Eco 2 Wall Hanger Instruction @

Parts List | Images are for lllustrations only | Insert in TV Back
_ Top Position @
o o6 o o | g @ SHDW Insert in Wall
| 6X40
. TV Part Rawl Plug Bush (2 Pcs)
Wall Side (1 Pc) (2 Pcs) (2 Pcs) (2 Pcs)
g M4x10 M6x24 g@
(4 Pcs) W14x6.5x1 M6x10 / M6x12
hax12 (2 Pcs both) | || W14x6.5x1
(4 Pcs)
@ ? (4 Pcs both) @
@ W16x4.5x1 © 32CT Series Insert in TV Back
SHDw (apcs) | | |[Mex10/mex1z]| | 43RIRS e
6X40 | |w14xe.5X1| | | |W16x4.5x1 w14x6.5x1 || [43S2FG/JFG Bottom Position
(2Pcs)|| (2Pcs) (4 Pes) (2 Pcs both) 43D210
43S3EG
Forallmodels || EF32 || 3apu || 43COMG || 4356DG
VESA 200 X 200 VESA 200 X 100 (for 43rs/43R)
Maximum Size of Mounting Hole | Maximum Size of Mounting Hole

30 mm

Distance from Wall

Maximum Safe Load




